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3. Consider the function y = x—x*on the interval [-1, 2]. Calculators Permitted

A. Find the average rate of change of y on [-1, 2] =Fcx)
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B. Find the value of x that satisfies the conclusion to the mean value theorem for derivatives
Make a sketch supporting your findings.
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C. Find the airerage value of y on [-1, 2].

_ Stood.
e Vale = 277 '3[ ]‘ [(wr) (44 ] .‘i @

2—=(-1)
D. Find the value of x that satisfies the conclusion to the mean value theorem for i
Make a sketch supporting your findings.
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4. Consider the function ¥y =v9~—x" on the interval [-3, 3). Calculators Permitted
A. Find the average rate of change of y on [-3, 3]
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B. Find the value of x that satisfies the conclusion to the mean value theorem for derivatives,
Make a sketch supporting your findings.
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C. Find the average value of y on [-3, 3]. [ 4 ‘.j o vaj ( Avfea aF Séf}:i 6)

3 appee
Ne-y2 g 32 — °f
3—(-3) é
D. Find the value of x that satisfies the conclusion to the mean value theorem for integrals
Make a sketch supporting your findings.
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